DUSS Schlagbohrmaschine

Ersatzteilliste SB13/2RLE

Ident-Nr. Benennung Bestell-Nr. Stuck
51003  Sechskantmutter M5 B13-1 1
51004  Kreuzgriffschraube B13-2 1
25012  Klemmring B13-3 1
25039  Schraubhandgriff B13-4 1
88012  Klemmring, komplett B13-4K 0
24001 Einlegemutter M10 B13-5 1
82001 Anschlagstange B13-6 1
25150  Tulle B13-7 1
51142 Sicherungsschraube f. Bohrfutter M6, links B13-8 1
53014  Sicherungsring B13-10 1
25080  Abdeckscheibe B13-11 1
55037 Rillenkugellager B13-12 1
51141 Linsenkopfschraube 4x35 B13-14 2
54071  O-Ring 10x1,5 B13-15 1
25082  Gangschalthebel B13-16 1
55047  Kugel @4mm B13-17 2
24078  Rastenfeder B13-18 2
51090  Senkschraube M5x8 B13-19 2
51048  Linsenkopfschraube 4x62 B13-21 2
21000  Bohrkopfdichtung B13-22 1
83096  Schieberad B13-23 1
55036 Rillenkugellager B13-24 1
83093  Schieberitzel B13-25 1
54035  O-Ring 8x2 B13-26 1
55000 Rillenkugellager B13-27 1
55051  Nadelbiichse B13-28 3
83095  Zwischentrieb B13-29 1
83097  Ritzel B13-30 1
55029  Rillenkugellager B13-31 1
83094  Zwischendeckel B13-32 1
55010  Rillenkugellager B13-33 1
58008  PaBscheibe B13-34 1
81001 Anker, 230V B13-35 1
55001 Rillenkugellager B13-36 1
52057  Stabkerndrossel, blau B13-37 1
52062  Stabkerndrossel, schwarz B13-38 1
52006  Kondensator B13-39 1
25009  Kabelschutzschlauch B13-40 1
51008 Linsenkopfschraube 4x14 B13-41 6
25004  Kabelklemme B13-42 1
52001 Kabel mit Stecker B13-43 1
25018  Luftleitflansch B13-44 1
81023  Feldpaket, 230V B13-45 1
51045  Linsenkopfschraube 4x48 B13-46 4
52148  Schalter B13 B13-48 1
25045  Motorgehause B13-49 1

04.08.2015



DUSS

Schlagbohrmaschine

Ersatzteilliste SB13/2RLE
Ident-Nr. Benennung Bestell-Nr. Stuck
22010  Kohlebirste B13-50 2
22004  Kohleblchse B13-51 1
27002  DUSS-Aufkleber B13-52 2
52050  Umschalter B13-53 0
27029  Selbstklebeschild R-L B13-54 1
95021 Schnellspannbohrfutter 1/-20, FS 13 S B13-55 1
83105  Schlagbohrspindel SB13 B13-201 1
54014  O-Ring 12x1,5 B13-202 1
83106  Schlagflansche SB13 B13-203 1
54046 Dichtring B13-204 1
83107  Schlagplatte SB13 B13-205 1
82012 Bohrkopf SB13 B13-206 1
25083  Umschalthebel SB13 B13-207 1
54006  O-Ring 5x1,5 B13-208 1
51138  Senkschraube M4x8 (Kreuzschlitz) B13-209 4
83104  Lagerflansche SB13 B13-210 1
55077  Axialscheibe B13-211 3
55041 Axialnadelkranz B13-212 1
53013  Sicherungsring B13-213 1
24171 Trennfeder B13-214 1
24080  Typenschild SB13/2RLE B13-215 1
95004  Bohrfutter SB13-Div2 0

04.08.2015

2/2



DUSS

Schlagbohrmaschine
SB 13/2RLE 6 7

1
m
11
# 20
| o 201
4k - 55 e
4 - H\#:;r ﬁﬁ N

0 I@I@ 0;

214
17 18 19 23 24 25 /.
o ® 213 . A
21 | - Y212 211 & 6

12
LI

05

203 204 206

05/13




